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Directions:

(ii)

(iii)

There are in all 27 questions in this question paper. All questions are
compulsory.

sl & FrefRa 3 3 W 3ifed €

Marks alloted to the questions are mentioned against them.

TS Fe @ SIS Ufed N FHfie IR It

Read each question carefully and answer to the point.

(iv) ¥ ST 1 SR e &) $%6 99 & T WoS & IR A UK famed

(v)

(vi)

oy o &) @R ey e seRyfRaa # fofae|

Question No. i\s multipie choice question. Four options are given in
answer of-@ach part of this question. Write correct option in your
answer{book.

g9 TRET 1 1 IS WUE U I BT &1 FH F&T 2 | 9 b TP 31D &
o #| 9o TYET 10 3 16 9 a1 316 & W & | 99 Tl 17 § 21 Id aR
3 .0 &1 T T 22 | 27 7 Urd 3P & e &

Each-part of question No. 1 carries one mark. Question No. 2 to 9

are of one mark each. Question No. 10 to 16 are of two marks
each. Question No. 17 to 21 are of four marks each. Question No.

22 to 27 are of five marks each.

3 We-03 3§ FHY R B3 fabed Tl & Ui Ffiua weat § sraRe e
g fman war &1 09 el A A 0 fade &1 @ 3R Al

There is no overall choice in this quest_jon paper, however, an internal

choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. (@) Prefeem & % s s !
In the following, irrational numbér is:

() \16 (i} s (iii) —155 (iv) 0.75
(@) Tt fGOm ague axt+bx+c B YRIG o AR A A (atp) BAFBM:

If o and B are the zeroes of the quadratic polynomial ax*+bx+c, then the

value of (a+p) will be:

iy -= (ii) (iii) -g— (iv) g
(M) Fu=R 2ot 10,7, 4,...... &I 591 I g 1

5™ term of the A.P. 10, 7, 4,....... will be:

(i) 1 (i) -1 (i) 2 (iv) =2
(9) afE sin 6 = cos 6 d ¢ & 7 AT

If sin 6 = cos 0, the value on 6 will be:

(i) oo (i) 3009 (i), 450 (iv) 90°
(F) x-3e7 R Rera fag & e &:

Coordinates of the p\@ﬁ on the x-axis are:

(i) (x, 0) &1) (0y) (i) (x, y) (iv) (-x, -y)

(q) aﬁ%umv@é}rw 6x+K=0 & e F9H & A K &7 91 2nmr: 1
If the roots of the quadratic equation x?-6x+K=0 are equal, the value of K
will be:

(i) 3 (i) 6 (iii) 9 (iv) 12
) aﬁ'.mscﬁBc=6%#mAamAc$m%@ﬁﬁaﬁsﬁaﬁfmﬁm
ani: 1
If in AABC, BC=6 cm, then length of the line Joining the mid points of AB
and AC will be:
() 2cm (M) 3 cm (i) 6 cm (iv) 12 cm
231 (HGH) [2]
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(31 af i Re g sifase} & fore amear SR mftaas s 12 7 15 &, @ 370 S
- 1

If for a given data, mean and median are 12 and 15 respectively, then thier
mode will be -
(i) 21 (i) 13.5 (i) 10 (iv) 9

2. qoifer 26 3R 91 &1 3T ToraEve faftr gRT HCF I Bifsrel 1

Find the HCF of integers 26 and 91 by using the prime factorisation method.

3. AR 0N 21, 18, 15,.......... &I B 91 U8 0 &7 1
Which term of the AP 21, 18, 15,....... is 0?

4. U feamd WO s Hifowe e ge 5 3k -2 & 1

Find a quadratic equation whose roots are 5 and -2.

5. sin60°c0s30° + cos60°sin30° & HF FId Ffe| 1
Find the value of sin60°cos30° + cos60°%sin309°.

6. T3 (5, -6) 3R (-1, -4) P T TN X@EE B y-H& K:1 & 3rqura # fewfora
FRAT &1 K &1 A 371 Bifoel 1
The ratio in which y-axis divides the line segment joining the points (5, -6) and
(-1, —-4) is K:1. Find the value of K.

7. faz@few: 1
Prove that:
(secA+tanA)(1-sifid)=cosA

8. Bizar 21 3% o vo g0 & v Pisuavs 31 e s i, e P 600 21

(1! = 37% ?’ﬂﬁEJ 1
Determine the area of a sector of a circle with radius 21 cm, if angle of sector is
60°.
ke 7= EJ
(Ta e 7
9. gft p(E)=0.05 &, A 'E T A sfyasen zen wrft? \
If p(E)=0.05, what will be the probabliity of ‘not E'?
(3] [PTO.
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10

11.

12.

13.

14.

R 59 7R frerd 2 6 0Q=13 ¥ PQ & mraTé a1 A3

. g HCF(306,1314)=18 A LCM(306,1314) F1d Bl ?
If HCF(306,1314)=18, find LCM(306,1314).

auige i 35 va sruRer g 2 2

Show that 3,/2 is an irrational number.

A 3t arelt e s 7 @ R €2

How many three-digit numbers are divisible by 7?

ABCD U T¥erd & foei AB| |DC & o 39 faaof e g 0 R witrede o &
afzo s 20 - S0 g 2

BO DO
ABCD is a trapezium in which AB||DC and its diagonals intersect each other at

the point O. Show that & = Q

BO DO’
Yg4at / OR

& et snpfcr ¥ DE||BC &1 AD 1 Hifste|

In the given figure DE||BC. Find AD,

A

| AScm
<2 E>
7.2% &Mm
B c

5 Y v a1 O 9 & g P ) wef e quoﬁaﬁmwwaﬁﬁq

2

A tangent PQ at a point P of a circle of radius 5 cm meets 3 line through the

centre O at a point Q 50 that 0Q=13 cm. Find the length of pq

231 (HaH) (4]
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15. FfrRaa arawen dc ¥ R weas & 19 S - 2

Find the median class for the following frequency distribution-

T R

Class interval 0-5 5-10 10-15 15-20 20-25
FRERAT

frequency 10 15 12 20 9

16. 20 TTW & U WIE W 4 §o9 TR &1 39 g ¥ W U 909 A1qedl Hpren e &1 36
Fa1 M & b a8 aew @vE 8t dnme 2

A lot of 20 bulbs contain 4 defective ones. One bulb is taken at random from the
lot. What will be the probability that this bulb will not be defective?

3AYar / OR

U6 U B! UP IR Bl STaT | Th 31150 T&T I B dl Wiedl ST difae|

A die is thrown once. Find the probability of getting a prime number.

17. Frfofaa Rae THiaxor g B 716 GRI & SIS - 4
Solve the following pair of linear equations graphically :
2x+y=6 Q
x-2y+2=0 O

&6
\Q%' HAYAT / OR
Q
R w0 gm o g Al
Solve the following pair of linear equations :
3x Sy
— - = _2
2 3
x, y_13
3276

18. g &Y #i 369 26 7 TS &1 37 A B 3y (awt A) @1 QTS I F 3 averd 360
& 5| Ag B I A T Bl 4

Rohan's mother is 26 years older than him. The product of their ages (IN years)

after 3 years from now will be 360. Find Rohan's present age.
231 (HGH) (5] (PTO.
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19. aR A AR BB (-2, -2) 3k (2, -4) @ A g P ¥ Frdeis wa B Al
AP=%AB€I3¢\?PWA3W&W€H 4

If A and B are (-2, -2) and (2, -4) respectively, find the co-ordinates of point P

3
such that AP = 3 AB and P lies on the line segment AB.

20. Tz dfsw: 4

Prove that :

tan® .\ cot@
1-coté 1-tand

=1+ secOcosecH

JYar / OR
fag Pifw:
Prove that:
CosA sinA = CosA+SinA

1-tanA ' 1-cotA

21, Fard 14 9 31k ameR B Brsan 6 Wil @ v or avagera der /T B 3R

=28} TR a1 U gl ¥igp Feiapict fordln ert &1 9 &) O T 3Taa S Bifote|
4

From a solid right.citcular cylinder with height 14 cm and radius of the base 6

cm, a right circutdi cone of the same height and same base is removed. Find the

volume of the remaining solid.

52, U 3T P AAwa 9 a1 R B9 & I 2, UfS I TS 5 Fprg DH IR & T
# 3k dteré 3 é @1 & R B) afk w9 e B 3 5 3R e B 2 S W &
= SHa 67 3 BT g¢ S &1 I B I @ Hel .
The area of a rectangle gets reduced by 9 square units, if its length is reduced by
5 units and breadth is increased by 3 units. If we increase the length by 3 units
and the breadth by 2 units, the area increases by 67 square units. Find the
dimensions of the rectangle.

Fyal / OR
231 (HGH) (6]
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< 3P B O FE F 3P o A 9 1 FW W 3 = 7, T B W) B I A
g T B & I 8| a7 T I Aol

The sum of the digits of a two-digit number is 9. Also nine times this number IS
twice the number obtained by reversing the order of the digits. Find the number.

23. TP qHAT THIH W G2 MR 3 grar 37 Rafd 3§ 40 9 aftrs ot 2 s & svefs b
& AT 600 J TTIR 300 @ 3 B| AR B Farg 717 e 5
The shadow of a tower standing on a level ground is found to be 40 m longer
when the Sun's altitude is 30° than when it is 60°. Determine the height of the

tower.
24, 5 A% 50 & v g9 B 8 I 7 vs e pQ 1 P 3R Q R WY &N RER w&
fag T W wferesa o<t &1 TP oY ovag wI Bifowe ! 5

PQ is a chord of length 8 ¢cm of a circle of radius 5 cm. The tangents at P and Q
intersect at a point T. Determine the length of TP.

Jgai / OR

150 IR TETE ST U TS T ol U WY B AR F R 1.2 M HF0E B A
3 T < 2| aft e oy ¥ 4.5 DX B IR W R, A 4 APUS T I S B BT
B TS | Dol

A boy of height 150 cm iscwalking away from the base of a lamp-post at a
speed of 1.2 meter/second: If thelamp is 4.5 meter above the ground, find the
length of his shadow @fter 4 seconds.

25. U P ABC BT BC W o firg D 3 oK R 5 £ apc = 28AC &1 T3
f& cA:=CB.CD 2| 5
D is a point on the 'side BC of a triangle ABC such that £ ADC = ZBAC. Show
that CA:=CB.CD. .

26. B g 0% A7 5 TOR BT & i1 o 06 9 AR &1 afd AerER M B Sars
IR @ Baw: 2.1 A 3R 4N, E ooy gip B re Fard 2.8 . 2 g A H T
% wgaa $aw & SFAnd T1d B S
A tent is 1n the shape of a cylinder surmounted by @ conical top. If the height and

| d th
diameter of the cylindrical part are 2.1 m and 4 m respectively an € slant
rea of the canvas used for

L

height of the conical top is 2.8 m, determine the a
making the tent.

yua / OR
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frsan 12 3. a0l U6 I o) @S et g R 120° BT 0T 3R B &1 A JEvS
@1 &% T BT

A chord of a circle of radius 12 cm subtends an angle of 120° at the centre. Find

the area of the corresponding segment of the circle,

27. Frfatag Jies o wmea sma Hife

5
Find the mean of the following data :
i 3R 15-25 | 25-35 | 35-45 |45-55|55-65 | 65-75 | 75-85
Class interval
RERA 6 11 7 4 4 2 )
frequency
XXk k%
S
S
N
S
N
$
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